These rose bushes grow
2-5 cm every month.
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I made a table to organise
the results. I also showed
the same sequence on a
number line.

a) The rose bush starts at 15-4 cm and grows
2-5 cm each month. Add on 2-5 cm to its

height from the previous month.

Month April | May | June |July | Aug |Sept |Oct
Height (cm) | I5-4 |179 |20-4 | 229 | 254 |279 |304
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method for adding

April May June July August September October . .
15-4 17-9 204 229 25-4 27-9 30-4 decimals lJc you are
The rule is to add 2-5 each time. unsure.
These numbers are in a sequence. A sequence 15 .4
- is when related things happen in an order. This + 25

sequence goes up by the same amount each time. 17 q
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These rose bushes grow
2-5 cm every month.

The other rose bush
is 87.2 cm.

For how many
months has the rose
bush been over 60
cm tall?



b) Subtract 2-5 each time, until we get less than 60.
-25-25-25-25-25-25-25-25-25-25-25
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May Jun July Aug Sep Oct Nov Dec Jan Feb Mar April
59.7 622 647 672 69.7 722 747 772 797 822 84.7 872

Il months ago, the rose bush was shorter than 60 cm. So, the rose bush
has been over 60 cm tall for the last 10 months.




Think together

o The heights of the roses each month

make a sequence.

All the heights are in cm.
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I wonder how to find the
rule. Maybe I can look at
how much each rose has

grown by each month.

Find the rules and complete the missing numbers.

April | May June July Aug Sept Oct
White rose 15| 15-2 15-3
e e o p——
Climbing rose | 10-0 12-6 D
Wild rose I:] 12-43 12-431 | 12-432 [:] [:] D




o Work out the sequences and complete the missing values.
a)

20-75 21 EI-IEE é é é

| | |
| | |
0-71 0-74 G D 0-83
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